Hindi (Indian Languages) [Official]
CISCE
ISC
Academic Year: 2023-2024
Date & Time: 1st March 2024, 2:00 pm

Duration: 3h Marks: 80

1. Candidates are allowed an additional 15 minutes to read the paper only. They
must NOT start writing during this time.

2. Answer questions 1, 2 and 3 in Section A and four other questions from
Section B on any three out of the four prescribed textbooks.

3. Theintended marks for questions or parts of questions are given in brackets [].

SECTION - A (LANGUAGE - 40 Marks)
Q1.

1.1. Write a composition in approximately 400 words in Hindi of the topic given
below:

= feu v fowg wR fB=) # Aawy forf@u St vt 400 wect | &4 7 811

THd Al & THH GHRT UTe--UIN0T G g1 PRl Sieeh T HRId [RMebT DI HiTd
&9 oitg @t wgeaguf Rrem ot S 31 upfa A firem arelt o diat &1 aufH wa
gU it & e IR 39 IRal @1 (IR 89 U+ Hia® &I Isad &1 udd
gl

Solution

Upfa AR Sfia # T A & THH 8, St A Paa Hier 3R Tt 8 =1g &,
Ffew AR foe JRFEa 3R Yer arararo ot wem FRet ¥ vpfa & faftm =i
3R T A ¥ Siad &1 $s Hedyul U A §, e SU-Tas 89 Su Hias
I ITd g1 Thd 8|

Tl | T ugel Ue gH T ot et 31 vl & g% W &1 U FAifga
RIF 3R 997 g1 3| Us-0Y, u-uelt, 9fear ok udd, Tt So=-3199 M R
3T HfFeT AT 8 | 39 e & S &1 &) Upia &1 gad gof Ren g1 o/
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B U Sita B Ht e §91E 7T 8, A §H BIS-13a] BT ATHEAT ST & B
TPhd & 3R Jhadl U B Johd gl

¥t Heayuf i § 94 3k ge-efican te o &1 U §9 A 99 T g
& 39 Ufehar H 98 751 id1 81 391 UR, g 7 +ff 9 3R gg-=itarar & 91y
HTH B UR 8! Ghddl (Hadl | 81 SIC-BIeT Sbadrst § FRmr 7gl gFr
13T afceh I8 UG B AR AFDH 3T F@1 1Tl

UHia A g1 B R uRkym 31 off Rien frerch g1 v foram eioht dgwa & Wl
A pya Ia 2| U8 9 Riardr € i fom A & oo o v 6 @ &H
30 7180 B Uit & fere FARaR yard &=1 9rfeu|

Topfd ¥ g1 Tg-3if&ia ot o divg et 81 fafts wroft SiR aafoat -
SeTepR gl § 3R Uh-<ER & HIY GrHSY ST 3@ &1 g8 Hi 30s garer
fird-S[eien 3R YR & 1Y I AR 594 §H U Ju! 3R Ig JAS
T AT B Thd B

v g1 e arell e 39 ToR §-

1. Fata ® YgHx W 3o+t ugET I T
S &1 Hd Bras J 377d &, R it a8 3ot Yazar iR ufdzrar & s
@l 71 g g4 R § & g7 Torers uRfRufant 7 of oo 1or ok
el DI AT TG 1T U S DI 7 BISH el AN GR a1
IR

2. UaSIs 31 ¥ 3id 81 giaT:
TS & A # IS 37U Ul of @ 3d §, A adid Bd & THA
IR I G 8- 8 91d ¢ | T8 g1 Rardn § b i & wfesar sik
IYHAT 3Tl 8, dfch g 3id el gidll 8 HIdTS & d1& H: I3 3R
3T §¢ B MITHdl Bl

3. & uddi & JHT TS 3R fa=ma:
Tdd U S8 TR S SR RR 3gd § 3 Av! 3R fRRAT &1 et & |
T% g4 Rramar g & Shtaa & fRRdT 3R Fereed! §918 &+t =nfeu|
Hicsar R FHITaA! BT AEAT B & o8 g8 3= ot & ofSw g
ElIRY

4. € & g TviRaT, g iR ufma:
a3 YRT & WY AR T8t Y5l 6, IUH TTewls 3R ufdd sidi o |
Ig gH Rrardt & o gd ot S # viviRar, mes iR ufdsar s v+t
MU | Al SiR THYr & T1Y g U+ IERUT ! U B BT U
ST TR
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1.2. Write a composition in approximately 400 words in Hindi of the topic given
below:

1= feu 7o fovy R fe<t & fAemy forfam &Y sme 400 i A HH A BN

HUAT HIToTT fob 3T W1 TR a1 Teh RyuTet & | URaR auT <27 & Ul gt
TR &1 UTa= S U 3T &1 TYH B 67 T 30+ TRAR ayl
ARt Y fbd ThR & GgaRT BT U Hd &2 JHHR QU]

Solution

i IR oFTd U Rurel & u B # 17d 3R TR &7 SgHT HRATE | o= DI GRET
! ForAeRY 3o def IR A1 Ue SHdd Hedyqul 3R 7Raqul o ¢ | o/d & g+t
gef g1 § 3R R I3TaT g, f AR A H 31U 3 & ufd U 3R ¥a1 &1 Hig
ST BIT © | T8 Traeh? €1 k1 ged 71d § R el § fob & 3o e o) gRad
& fer ggf@sT €

BTetifap, 370 URAR A G I&1 3T o gial| WX e & gHM 30- URAR 1
fearTed 8 1 3197 s<aif Y HXp T, 31U Sita-ameft o1 91y, 3R Ara-fod &1 9 42t
Te 3T 8 | H ST § o BR URAR &1 31 it Hegd eidl 8, Afded H 3o s
I 1D el 8¢ UHhdT| S $T Ya1 GAMaR g, AR 3 faarR T A oA Sl o
Ay g

IRER 3R SaTRIET | He! TgaIT &t e gl g1 7 30 URaR § g e
FRATR b d B ST H Aolgd 8 38 | PR I FY SMTGRN BT SUATY 3R 70+
Site H RIS ANl | TR AT-dT 3R Sfta=ael 231 9929 &3 iR g A
BT AT Sdgde H3 | H Argdl g b d B TaT 3R JHUU 61 90 3R T R
Gy

a7 U8 2rem 8 36 3 A1 varl B TG R 3R THRY ar b
TS | g8 AR SR HTETES THYE St Sa=adhdl sidl 8, 3R I8 TS §AR
a3 € firel GobaT 8 1 5d 8H S © b gHR Uis U W eI wsI 8, af
BHRT Hdhed 3fR it 7oigd 81 Sra1 8 | & IR o THTSl 85 3R 3R 9 ¢, 3R
IR SfoeH &1 58 FR

3o et et & A1y 1 §ERT U ARy WaY BT ¢ | 89 Ud-gar & forg gRaR
B ARG BId & | B Ud-gaR &1 THU TR © IR B THT T Ueh-gaR BT TERI
a?é%%sﬁam@ﬁmshzﬂmﬁsnwﬁﬁéaﬁﬁaﬁﬂhéwm@ﬁm
IR

3, WA IR 31 T R} & =9 H Sita= St Ao 3R eyt & 2|
RAR 3R < & fd o=t foTTRa! &1 UTe $5Rd gU TTd SR Jaly $T 3ya
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BT | URaR 3R TG &1 gaU= 3R Tgai 8 ou diedl &I Ay |
e ST § 3R BHR TPHed DI 3R A Bl ¢ | 3T UDR, TH (U Jarsit &
1A Y S B GRE 3R g H AN & Ihd o

1.3. Write a composition in approximately 400 words in Hindi of the topic given
below:

i feu U fowg W= g1 # e forRau S &1+ 400 Wea] § &H = 811

3MUH! GI4T U Tl TR & arg SrHi-onft wawr g3 oY1 3 3 gam & faw
forft TR =@ TR T U 98T SrH® Udh VN g1 uet orid T §¥f kg 9
HaRT 7Y A MUt a1l &1 e d 3R -9 & HRUT 1Y I GHad F 96
et 3R TP TR AUy 3 Y| fITRYISH 30 34 T quiH BT

Solution

T 21} e el R & a1 onnft-anft Wy g8 off | S Yed H GUR W@aR
9 9gd G §% SR T4 74 a1 s 3 gam & forg frdft uRig Ra @
SRS B9 dToTHEd <@ o1 fuig foran| 98 - 7 aa Sifgdia g, sfe agl
! ifd 3R Hied gret o off agd Ui Sy, TH1 AR WA AT §HA I B
It it aR o iR U Yem fe aomed & fo fAed ug| a8l ugan W
Tt @ offet ® Gt 3R ITE ST A UT| I T ITE & 1Y 8 BT
T 3R IS Yexdl B U= St | gHRT I 9gd of UG 9d et A i
3D T YR TeT ue s |

TE g9 T3 Had & U ¥, it s/aHs U URT s SHE ust | fad! srhdg &
PRI AT 3ER-IER UM @1l s o dep1-Haeb! g1 ot 3R A g1t &1 g1y
s §U SR a8 q YeRT 1| T H 8T T 6T T o o e iR 9 359
Rufd ¥ Mg | T el @ dfead & g@d §¢ Jo SAd! GR&T &1 dal Jar
M| e st dtg, grdt 7 o fiewea iR I-a &1 ufvay fean 3= w1
BT HHDR UH ST R TP Uid RIH Pt 3R SR fobar| I g2t oo & ofs
H gk ¥ $B g1 o oI, B8 RiYdd 3R YI-§1 & 1Y 39 fRUfd &1
HTHAT HRAT G | B! d1T B T 307 T DI 2id fobar iR S9! ardl IR
& fa|

ardl A gt s @ 9 gU ue Wit ant feamn) g fk-oR 39 fean # 7¢ ok
Ws A R FAda oyl IR T3 oe & &8 freht of Rufay & wom =2 =i
TR R Ydgdes Tra-1 A1t | ST fema iR AnferF & SR g1 QRida
RIF | Ugd T 3R 38 997 a6 R I gl 81
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3 e A §9 980 $© Al gel & f3md Sk G- 4 9 %ad g6 39
gHtaa o Foren afcd G Sl &1 Tsh Hecdqul das i Riamn g6 PRIgd W
IO 3T 7T 3R Tg e gUR o9 U ifaeRufy 3ya & =9 7 3g T8 | et
! fgrrd SR -1 A g wifad o= foan i el +ft &f31E o1 wmren orf sk
TAFCR | BT 1| 3901 98 i IR Sita & fore U geaaH SUgR & T
81 39 91 & 91g, B U8 Hegd a1 & S &t gx uRfRufa o 59 8 3R
AR A HTH T 11T MR Hit oft germr 761 =il

1.4. Write a composition in approximately 400 words in Hindi of the topic given
below:

e feu 7 fovg wR 5=t & e forfRaw S e 400 wegi A FHA B

JUER T WR FdM 3R T B3 BT IRIES ¢ aadH H IUER &1 Wy
TR HH, AR AF S TR |' - 3T HYT & T&f U7 fquer o 3o b Tqd
Piforg|

Solution

ISR 21 Teh T URORT B S §UR Siad & He@yul &l &b 3R +f @ & 2t
21 SUSR & HTeHH W 8 U el & ufdy U, B8 3R G Udhe Hd g
Al 39T & Y & IUBR 2 &1 WY B! ded a1 8| I8 de-l Srad sl

{3 IUBR T 31F WR BT Udiih HH 3R ATUR BT e 3ifeid & a1 81 39
HYF & Uer 3R fJuer T g TR fvy o Iahd |

& § do:

3SH e IUGR o1 U GG & 77 8| AT FARY 3w} 0 HeW 3R §ies
JUER &R AT GraTores UfagT ik Wed &1 2xid 81 98 SUSR & & Ui &1
3ol Heh e el TN T 71T & | SATURT 59 TR BT aATH ISTHR fafid UbR &
USRI B IHG T & 3R 370 UK} TATHT HHA § | SUER 4 B 39 g8 |
AT 30 HIGT3N 3R WE B Yo S1d & 3R AET SUSR SR gER| &l gHIfad
P DI DIRAY P & | Y IUSR PT 3l Hed THI B 91l & 3R T§
Fad TP NTARBIT IR I8 Sl 5

3P ATaT, IUSKR 1 H ufaegef 3R e &1 y=e 3¢ T 81 A 7eh
JUER SR Ut anfifer fRufa ik Imfores ufayr &1 ueiRid sra &1 59
yferegyf # SURR &1 3ell Ahe, S i WR 3R T ST 8idT 8, Bl @l Sl
21 SUSRI &7 U8 ATURIHRUI AT BT 31 T B P fort URd BT g 3R
T WIaTel &1 fvur Sar g

faues o ab:
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IUBR &A1 3@ Ul WR 3R G &1 Ul 3| T8 TP H1egH g o 89 o0
el Y U8 FETE HRId § & 3 AR e He@yul 81 SUgR & A1ead 9 g9
30 WG IR T & Fad HA & SR Rl Bl Aogd a1 o | I8 TURT §AR
AT 3R Tpia &1 Agayf idw g1 fafts <R, garig! ok o SRl
TR SUBR &A1 gUR IR Id 3R raiford Yol & Ydbe HRdl g R anll &
TH-GIR & HRIE Ardl g

UH 3T IUGR o & oY 58 W9 3R & <1 USal ¢ | I8 Ufehar | o & 98
3R T &1 URETIP &1 SUBR & Ia-1 H a1 a1 &0 3R uRYH sAR I=
HIGT3f b1 Gl § | S99 I8 TF BidT § fb IUBR &1 ot +ft TR ik |5
Tdie & 3R 3HPT AUIMRS FY HId Uh SIed] URd &, Torgd Us I= HIa=Td
fesdt gt 51

1.5. Write a composition in approximately 400 words in Hindi of the topic given
below:

= feu e fowg wR fe<dt & ey forfeu S ariT 400 Trecf & 9 T 81

U8 31U TTeil-Hged I bl 8 WRIGR] Bl Srdl & | IR 39 e WilaR!
P UITH Jgdl S 381 &1 $9 URad &1 TS R 31 Y49 US 36T 87 THSH

fafeu|

Solution

Ugd & THg H §AR To-Higed &I gH M § WHGR! HAT 7 Had Tdh A
3ed It afess Te g Tifafafer off 1 57 gl A WRieRt &y 9Hg |
Pad g9 G HedT T, Sfess 89 3 TSIRET iR ghHeR] ¥ drddid B
o Hudh T ¥ A1 39 Ufchar # W S0 YHIS $I Teol Bl GHIA
3R TH-gER Pt WeTadl B BT Al {Herar o7l afe ome & e g &
3HTTaTg TR} BT e doit A Sgdl o 6T 7 3R 39 IRad- BT FH W)
TTERT YHTd U QT 5 |

AT WRIGRT A A & 1w s Yaumd uqd &1 81 36 OR 98 &t g4 ot off
THT AT SELAHT B GXIE T bl & | ST FHYT 3R Soll ! gad gt o
3R IR Bt HIS-HTS T T2 HT 3R fiear 81 faRy T § &g siiga2ieh

Ird ATl & foTe 9% U aReM Aifad g 81 ATars Wethm! iR iy fawmet
HI TTHR §H 3T TiE 3R g9 & IR TRITR] X THd &, R 3P TSR
¥ fEwrde 3R T P TH IS8T Uhd & [BTaifh, 39 Ffae 4 RIFT AR W)
FHRIHD YT STdl 8| BIe ghMCRT 3R Tell-Aigee B gl bl WY THaH
BN g | TS T & HRUT 3! fawt & ot o 8, o It snfdf
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fRufy TR faudta yura UsT 81 39 g I & o gF o R IR it gurfad gu
& 3R &3 Il & ot Fepfeat @i ot €

grAToTE fPHI0T & ST SIE a fTHargd WRIGR! A @l & &g & aafdard dud
& HH B foa1 81 Ugd S IR HUS SR ey I gohH] & Hred o
§d 9, 3 ofF FR-4R TAC 8133 & | Tell-HIgedd BI ghM! IR g1 arell
AR STaeid 3R Aeslid 3 HH 81 ¢ 8, forTa 0TS & U UHR Pl
3(CIG B HIGT 5 8! 8

qoferuitg efFeior @ Ht e SRR & AGRIAS YHTE 8- &I fied B
e T & SR e meiad &1 9ud 9 T 8, fored wafw w
THRIHD THT UST & | W 3R 3 A--gaifsiesd HeRgd BT SUdN §¢
a7 8, o Her ot 1 ot 5 T 7| giaifer, I8 o w9 g fb effeng wlierRy
= U AR SiawR vt ter feu 81 fadiiadt 9ia, pemr 9uid, JuResy Aqvidc
S AU SR IF §U & | 9 U U UBR B! feaawt o1 i gen g o
fSfSrea Al wR snuia 81

fspya:, sfiFasy AER! A §AR Sita &I auTsHe 3R TR §911 5, Al
TP TS R i THTG! BT TR 3ieTsT A1 fohdT 5 HopaT| T8 HTaTH
2 fo 57 39 uftadd &) Iqferd =BHIU ¥ 3 SR RHIg R SR e
Y DI AT 3@ D TN Y | T &9 U G 3R Fferd ATl T o
B Gl |

1.6. Fufafaa § 3 forsdt ver fawg wr Aifers e fafau:

1.6. (a) = feu ¢ fawg wR Hifere wert fof@w:

Bl AT 1 e gE A Bl g I

Solution

FogE AT 8 W Y& AgE g ol

AR TS BIC 4 7ild H Xga1 471 a8 U Aeg-1a! [ o, fore e @al o fam-
d HETd R B IS | ITB! Uall, e, 3R & 5= 1t | 0 1 Sitaq
AT 3R Y@< Y, Al I e § U dof gqw ot &of | I 3o+ &t
1 et & fore 3R Welt & forw o3 IR T IR forw 3§, e <o Ivg & 1y
TGl ST g1 UT| AR & Hol B a1 faiiad dadl o 38T 4T g T I J
AR 3R IRING =0 T Y 7471 47| TSB! Il B g I8 T8 At iR a8
TR T & Tgar U1l IUF IEX R e 99y i o1 ok ur fears <t off|
U foH, IT®H! U 1T A ST Fel, "0, 81 $© U™ A1 el 39 dol °
&H Yo BIF1 81 I, IRA1 48 §HR Sfia I ¥ PR <M |”




____________________________________________________________

e A i $F 919 R TERE ¥ AR e ¢k qu fur f a8 omm wdt | sarer
TEd BT 3R U B B UGTaR Bl TG DI BRI S| T 30 Tt
T 75 dod! B 39T BT L= 61 3R G7-31d e &1 IUHT TN 3T
ST 3R IHD! B 33t B Tl | ST 31U+ IATGT BT 33 GTHl TR o1 3R
fR-efR &l g™ @l

TP 9T 971G, T A IRT Hof gl feaTl 3d 98 GRI avg | Horgad gl g1 Tl

BT BId B ST H Bl SIEl B¢ 7T 3R IHb W6 TR TP =18 THS 3T TS|
ID! Il Bt Hig AT 3T TS 3R 98 Ugd PI avg G-I Sfta= s @

T A 30 g= o 1 ggt Raman fo o § g9 91fet 3R o @dl &l
frifd T afen| Ien 3 Rramr f ed SR sHHeR! 9 ofiaH ST &t
TIY 81 Y ¢ | T 3(F U St H gl 3R Tqy o1, wife a8 SHan o fa
Hoidd A & Ga9 GO S g1dT 8| W &1 Tg bl i 7 &% fpdl & for
TR §4 75 | 31T A 394 g ot fobs a1g fasart +ff gfpd g, Agd iR €6
Tohed J g JHET &1 JHTY fobar ST TahdT § | Horgad gidbR A A 7 Had
30 URER &) Gt &7, sfep @ Tiid & Ueb 73 femm &

1.6. (b) FETIRIT aTeT ¥ 3fd HRdl U TP B! [AIT:
. SR T8 R W I BH01E €T HI YT Tl ur, ur|

Solution

98 U il ot 2 oY, e & 310 7Tq & IR T TR 8T 47| 7T & fbR Uh
BT I AT YT, gl s 3R Werd Y 3R 71d o1 Afigems g +=_a 3t off | 39
fe1 areTe 3 Uy U e ST o, 3R S g el 31 e Ut foh a8l R gl eI |
formam & w1 gon & +ft 39 e ot 3R §g1I 59 B 98T ugdn, 41 3@ & arae &
fp=TR Uep Al 931 85 Y1 ST et R fiar 3iR v 1 dp s I forg T off |
ISP U B Uh ST S UST UT| TN 38 TRBR WS U 3R cRE-0RE DI dld B
e U1 BIs g 38T U b = arare 7 IR 7 o7 3iR 3t 3 39 arer Reeran,
Wb 3fa I8 SBI T

T STegt § ST Sods 9 & Toal ot | a8 YR-¢R T & a1 U1, afd 3Tt
gTad TR @ Tt ot A R T & STaex &) ga & fore frd! &1 W ofiR ad
T T B IR ST Y T | UIST &R 915 Slaex Ug dT 3R 39 gid o= &1
AT YR [ dT | g (AT bl Head & a1 a=dl 81 H 1T R 39D 71 3 8d
&1 9 ot | 98 Afge aaR 3 el AT SR YT BT Y=IaTe B et AT | ST 3|
3l T, i1 39 g1 A IR fad 4 7831 B0 818 €11 39 Ay <X &l dg =il ol
grdd § @ IR fad & Usb 3ol die1 g3
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H 3 e &) g1 &1 Yol 761 urT| 39 9= B Al 31 3@l H o &g SR S U1, 98
3ot off A 3iTa & T gHAT 8 | ST 6 A T8 T 3R TP T8 W Bt
AT a H WA 73| 98 HToIP T30 §3 IR-9R T1E 3Td1 8 3R 31 T8
e TR HOTgR Rl & b B8 S0 SHTY-UR & @l &1 HG G o fold 8RN dar
TET 1T | 39 fo A I Raman i Sfta= swie § 3R 83 8% WY PIFRI=T Bt
TIfeT {35 faredt 1 Hae R A | 39 9= DI SBIRN 3R D! HI 1 &g HRT A8
R 3T & T 1ot B1U Bl T, 3R H 918 HR it I B0 TG Bl YA T8l
grT|

Q2. Read the passage given below carefully and answer the questions that follow
using your own words in Hindi.

frafefad merr o e | ufeu SR 3/ SrecidT WAt $d gU feu My usi &
I feal 7 difsmuy

S FRIfSar se & e U5 & wied § ¥gdl Y | 98 s9u= 4 8t wret Rfsar
3ot <t sufer a1 fafedl & s= 39 gawn fRigrd A1

PIs Hedl, 99 433 Tel bdl al ST feg sm i, A S 39 US B 3@
TR 93 fIerdr, “3R1 Hut gaR urg it 31 SR &3 | §id <@ SaR) bl aRg
TR TEl I, 3R AT AAh He-b-99 G god |

AR 3! S GADBR T AHIHR I8 S R ot & $© Hg Tal it |
- § a8 37 9101 1 g1 g1 At At afd faet oft <iet &t ues At gt
2 IR-IR feTu oM @ 39 f3d ¢e 11| 98 3aT9 &6 Tt 3R SHH &1 k%
3 gu Al “8 SR A g Fafear ot smmam ofR - df g9 S &)
wifeferad &t 76l < <t & gt fava fagrd 81 ora o gl U ua W 8t e
o, H 3 SIS ! H-THRN & foTT B8 &= o1 Weh §1” V1 Hgd §U harasy
ferfga drgt 3m wg TS

3t a8 T § R T N IV udb U ARSH AT SM18-T ! palal gH
B SIEI &

3TSTa e frdt 7 ot HHIaS & 1Y 37 3/ I 91 el Bt | I3 g e
TS R o, 81 WeT S &1 U8 399 & &g 381 UT|

G GH o1 A 7 ST, 8 el oRewd o | I oiTe # g0 9ad 31w grert
gole © & Hol-%d UTd & | I8 gH &1 81 St U=t Avied aid § Well o 3fex b
Tt 81 3R R st o O ST A foravedt g1 | 8 v § arent Fafsal & ferg gqu
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HIGA 1 3@ 81 Afeh1 g1 U1 o ot gl g Bis gonl fafedn el o | 7
ST3N, TFER) S1TE Pis 3R T8T & el

TS P aGI A SO & fad DI G| ITDB! §Td GADR TS Uga aR 34 o o
Ig UgHT 5o % 98 39 ¢Rd) R SR # Hisg 781 &1 HiTaM = 39 Us 9g¢
T T & forg 9eT B SR Rk a1} fafsdi #l ke A S uRT HEf A A Bler
Tl S| TS el fafsar sgd e ot | a8 Weit-g=f s & de T8 |

HHa’] RITSa1 31 TR 81 Bs aR g4 39 HI 3R B G@HR Qe H gl &1
3T B & | §H U U ! ol bt HgaT 9 oy, A Aiad 8 b faerar A gd @
Yol t ATg1 &, off gl o U & | Ol fRufa A 87 g &t -89 iR @Rl bt
YR ATHR AT &l P a8 |

g &t 1t SR & garT & 76T U1 e U | 5 U SUM S0+ 319 § 3RaT g
3R AT g | B8R frdfl & SreR BIg-A-PIs a1d § Sl I/ WY g1 & | 81 Gl &
o 9% Q¥RI & [oTU S99 U UM §1 oifch1 [l Uh o 10T ag GRI g1 &l Adbdl
B 1 Sad P HET ) GHSIHR, I IHRIHP AId BT SUSR PR 8H 304 39
3 SiaH I 3R IR &1 HHd g |

(i) P FRfear Ta e H2 oAb s RfSal &1 oaagR 39S Iy Haran [3]
(ii) et &) fras o Rrerad oz Iaat g fRierg »4 R §3? [3]

(iii) 89 30Nt forel) ) & S8R &1 Tobd 22 T & SHTYR TR WY BT [3]
(iv) FRafeiRad didaal ux nytia Uil & SR & fou 9el fasey gfu)

“HUAT IH 61 ° Hd ST, §H PR} oerd 8 | R SiTTd H 84 Ted it grerl

Iog 9 gl ha-Ba U g 1”
a. SYHYF B YR W S & U B} o fagrarafi &1 udr gaar g2 [1]
1. -THa1 3R oA
2. 3EPR 3R Gl
3. BB R BIY
4. 94 3R Td
b. FHIAN & [T HH D! aoT8 A A BT U Had-padl 4P [1]

1. UG AT

2. IYP BITHITAY
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3. 39D ST § el fo@a |
4, IYHAISUHY
. O W EHA S US B a1dl d1 R IHF TSR [1]

1. 98 TRTEITS |
2. 39 U ggaH el
3. I S BiS fea
4. 9g ISATHREA @t

(v) FraferRaa didaal iR Senid gl & I & e wg! fldsed g

g P TTdl A HAIAR] P fad B G| JYD! TTd GADR 3T el IR I Sfia= o
T Te U g3 fh a8 39 (RA R IBR & Aivg T8 81"

a. eamiger-iaammemmEs?  [1]
1. ra-faR g
2. TAGE B
3. A H FRRI S@= gl
4. T IS BT

b. *... 8 3 ¢RI I IBR H HIS[G 81 & 1"- UK I BHId & 7 & fobg H1a
FHIUaIIddars?  [1]

1. JGRAI BT HId
2. TYATHI UG
3. HTHGAT BT UG
4. HTHGYN BT HId
. 'O v TR S g s A ugad g e?  [1]
1. i@ & g d
2. AR & gy |
3. gigiciige & gaH o

4, yareTT b ged A



____________________________________________________________

Solution

() P Ffsar st fRfsal & s saferu off wife a8 S5 et Tl o 98
SR & YA S TR TR 384! o 3 RO Sie @ 3 fafedr 39 gt
Tt oY | Tt FafSal & o= 39 fagrd 3, 7ol IS1d ¥ 3R SHS] 381 &SI &
R aH AR 3| 389 dgdt Al o, 9 G 3 g1 Fabel! dl il ford HTH D17

(ii) P Y HTaH | Rrbrad At fb I8 FRfgar s7ax 37 &t emar i 78t
FD! I8 RIeTad dd g §5 o1d oA & US = 34 gad [ a8 Us! & ford agd
Heayul & Fiife a8 31U Hoigd did | Bl Bl @il § 3R 37 disll & Sl |
Bt g

(iii) 89 31T foreft &t S8R o1 Tahdl § SR §H ORI T ST o1 9 B 3R
3Ot fa=ivaraf o) U | 85 RIS T & T1Y 3T-T &Hd13H Bt oS
BT 3R DT el ST HRA1 IV | 8 e & 3er T3 [ gar g o 39
3FARaT ST B |

(iv)
a. U1 3R UH
b. ITd ST H ool foaw &
c. 39 3l ugaH et
)
a. HTa-fauR gIHr
b. STHTIYT T HId
¢ I & g
Q3.
3.1. Do as directed: /ﬁi‘qﬂaﬂwwa"rﬁm
3.1. (a) Fufafed are &1 Y= vu fafau)
H grdeeTd & THY 37T AT

Solution
o GrhTel ST T
3.1. (b) TG T 30l HRR R S@H A p Uld a9 s
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Solution
A H T HIR R @HR Adlell & Uld dol JHiH Rawed 1 |
3.1. () FEfaRed ol & 9 Yx a1 & 99 DI

1. T8l dl § IRGY B GBDHR WRGSH I FGadl 5|

2. TG 8 A € TGS B T@HY WIS I Gad e

3. TSl ¢ WIS Pl TTHR RS I TG ¢

4. FIE N € WO P SR RSN T Seadl g

Solution

T8 Al § TRES B STH TR I §&adn g |
3.1. (d) FEfiRed arel & O 31l a1 &1 a9 Pifid:
1. Urpfa® Tigdar wawT 7 digd! 3
2. &4l B ggavs far M|
3. T ISI &I 3T ! AT
4. U SRIMI! B Xd-R1d THT Hd 5 |
Solution
UTpfaes Tieddl T 79 Aigd! g
3.1. (e) FwfcrRad arery & ¥@ifhd e & foTT WEl Wsg BT TG FIIT:
e B TS H BV Y B & forg dicie!, fayd® o1 pay 3|
1. Pdd
2. Pt
3. Fd
4 FA-FA
Solution

P
TS T - Tve D1 ST A B U B & forg i, yss &1 Fag 8|

3.2, et M # 9e! Weg YRT| / AERER IR difom|
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3.2. (a) Fafafed gerak & a1 913U
3¢ q e Fu

Solution

312} Ot ORE | A R <A1 AT FEIG B ST

T TN YPTETRAT & RIATs HRATs HRd §U o A 3@ 3¢ I 3¢ §o7 &l
3.2. (b) FEfIRed geTer ! 3G Hifor|

H[C-91e &1 @M1 QT

Solution
gIc-91e &1 Y1 i
3.2. (¢) Fefafed e ® fvad =M &1 gfd & T Te 9¢id gaTar &1 9a- Sifod|
IRt B I deEE AP ITMEF A HieR el fpar|
1. Glb BMHAT
2. g e
3. ST agal gl
4. a1 e
Solution
RN B I EEETS < A1 b WA Yo S iR el
3.2. (d) Freferfad a1 & o ue 9dte HeTar ol 9 iU |
3T g T & ARy 39 U 3R dis IURT g1 Tl
1. Poiol Hg Bl S
2. T A IRAT
3, ARTA B
4. TEHM RR WIS

Solution

EINEEIE
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2. (e) FrafiRed gerar & Tet o &1 997 P
grar sigferal &t & g1
1, Sgd AH B
2. ¥gd Y& T
3. §gd g
4, SEAQGU AT

Solution

Sgd Ay g

SECTION - B (LITERATURE - 40 Marks)

Answer four questions from this Section on any three out of the four prescribed

textbooks. / UrausmH # Ruitd IR gal A A frfl A gl S aR udi &
IR 59 HIT | ST | (F°] el (Gadya Sanklan))

Q4. IT U TR TEH B! GHEHR €odl  Hel-"HI, & HHYR ST |

i, S9d BYT T YT UTS 3R ISP A@H P A1H farau| [1]
i. U8 DY [T HB1 82 98 HHYR FI o1 dredl o7 [2]

ii. 39 HYT P Ul 99a] BT T Ie=Y UT? Y b SMUR W FHodl fos agar A
3fed HeH I [2]

iv. Wy HIf P wadzd wifty & seta- H aaar &1 anT i fedt dorvaa 9
FHH T8l U7 [5]

Solution
i, B BT TR 3R AP HT AW GHT AR e B

i, URqd U TN A B8T 8| YIdR off & SRIT 81 o4 IR =i i e
HRd §U 98 HHQR o1 argat ot difcs a8 a=df Bt AU R T 3R o
& fgard &/ | 3o §8anT ¢ 9o |

iii. 39 ®YT S Ui ol (TR)) BT 3530 SHMGR, 7% d SRIUH! HaR™ 1
TG HR GXUH Pt IS BT SR 8 | 98 YR TR Ta! DI G@HT
H 81 I Y TeaaR B Redl gHs) HIaR™ & s=di o1 Af
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FTBR U N B HIGT BT UiRed fean g1 TR Tarm &t areft g
SHiFT @ THIfId BRI/ B o1 B 3101 ufd A9 Al 81 39 oRe 98
T G AR} 811 &7 uRag it B 1 Sie: IIHT Tg HgH I Tl

iv. TR U IE T HIaHTEHS Hel ¢ forad gEYH H HRdIa Tadsdr
SHETe B I GTS TSl 8 | TN U i W | SR - Y
UgaH ot 9 SaR St &1 R=ar 39 fow i df 399 SidR™ &F
reft, At 3R SRHIGT UG 1 UgT foraT s8] {13l ®f WPR
HXd §U I HIIRM BT 3T ufdl T for 3R s3rfiR dewiieiaR &1 day
WHR 51 [T | TRSR S=IHT B gorl AT a1 At | Tiefsh & Aga o
ST e donl § ¢ 38T 4T g xard sg-gea e d | U
M R A8 W SR STHR WaRT ot & sl b1 37! rqufufa o
T -UTS0T ! § | GRIHET HaRTH STt & Tgan, &7 I8 S [l
uHET & ®1d | B9 T8 71 78 ol AR A gy A fPu o @ |
HH T8 ¢ | T8 PR 39 o+ A B0 Sxmufad & Hial &Y SR HRd
81 39T AT T fb afe, darm st =rgd at. v, U e a8 ot e
TEIeTeR &9 IHhd ¥ 3R IS WPHR HI T Hd I8d Al I
3 B! A Q Hod B BT GUSHT IRT AT M A T SR,
WA S & gl B A g%, I [eRl &I oraral 9 gad o
30 BT 3 HIGAT P ded 1K BT AT 45T o I o1l ¢ | & H WA
FU Y B B DT T B 3T SUHF 1 ufi=y fear g1

Q5. Tt & eifti SMTeTeR iR FAER W 3@ e faym™ &= o1 uas R
&1 Ul ¢ |- BTl & T H A & IRA B T | [9d §U 59 HUA
1 RSAT DI |

Solution

Tl Fe & HeTer &1 TRA AR WA U Hed Ul IeTexvl Udd Rl 8,

e fopdt & eifdres sTeweR 3R aER WR 3iG Heox Ay &A1 fbaHn urae
g B Tl 8|1 HeTad Us Yex 3R npye afgar off, fora sot digean 3ik
TS O AN B BT fasar| Iu= 3ot ST Yavdn iR e W wsal ¥ at
1 fayra Sita fern, Afd 3% ardfa® 32T 3R e 9gd 8l fid Ul

TETQ A U FeTe! 3R Wdgut IRl B R HRA o o o=l &1 IuanT
faraT| P! aT6 Yardl AR ™ R HFaER A A &I IS arRafaddl Hl
T ¥ Ak @M | AN ITd SATSTER SR Jae W 3y s Iua! Fral &
IR g1 7T HeTaT & IiE B SEHR I8 WP gl § [ [l & argdt sremr
3R 1Y sl TR 3 Hew fayr &1 g4 st geflad & ST Yava g
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Tg He g1 I8 IRa 4t § & 8w foredt safda & w1edt ferama @ik &fdres saasR
WR o I-gas iy 781 S T1feu| ¥ su sufad ! arRdiamdr 3R
TP SN B TTERTs F GHAH B DR B AU | ASTadT T IR 39 a1d
BT ICTeU ¢ [ B [t i &ifore SeFeR 3R TdR WR fayrg &1 8AR
fore arae g 81 Il 81 399 84 Tdd 3R JHFIGR T+ o1 URUT el 8,
T 893U Shta= & 98! FAvfg & 9 3R 919 ¥ 99 9o |

Q6. 'HIFTT U BHS R B HUNHY Sila B! B g | 59 HYU P! HigdT B
S & IR ST} & YR G Y HITT|

Solution

Ui e YaTfs te Bife TR & TovHg Sita 3 wer 8, SR IR ugE
31T & AT § WY {501 S Yol || Ugd 3¢ § Higd &1 99U ST §,
8T I TR 3R 3rHra H Sfte sha el o ufer Y Fee & R 397
He- HETd B 3R Shia- & faudia gyl &1 am= far gavt siem
IP ! JATaRIT T §, O1d 39 ST BI 3R URGR &1 forearial &1 gt 781 iR
U & 1Y FIHTAT1 $9 SR I B3 Al BT FHEAT BT 31, i I
Fft gR Y At 3R 3197 uRaR & o 8% Tya war fa

TRIRT 31e0T0 79 Y 811 @ 919 34 Ufd &1 Jeg 81 ol 81 39 Hio- T &,
I YA Tl DI b U AR 361 HTS HIRA &1 SIS I3MT 30
6 3R HE-d & 9d W 39 Tl &f 331 el 3k TR fqu rr sik
3T 31T D! TGITRIT BT &, T I 30 JS| &1 B ol 3R 30
S| ! Y d Bid gU oWl | 59 IHY 34 30 Sl P! giRepd| o Ul Bled
G 3R TTd BT 3T fhaT|

'UiFTT Pt Her oH I8 Rrard § 6 Sitaa © =mg fora ot sigrsat e, ue
FHHS AR T AR 30 Fuy 3R Fed & 90 R e IfHd I UR B FHdl
21 3P Siia & T IR AT YS! AT, T8y 3R IHUU & Udid g, ol 83
R &1 UROM &d & | *Hida T Uil Aigan &1 Udle & o 30 IRaR 3R
AT & oY SUfaH TmT 3R Fuy faea, 3R U+ Sita &1 Ues et &1 faa|

Q7. 1T Hort (Kavya Manjari)
'3 IR e H 9 ;

TR AT IR H &

Teb el HT & TTE 1
GECAEERCI RN Ik




____________________________________________________________

TR Ufkaal foba sfadT A off 718 82 Ul H <sa o1 W foaeb forg fobam T
2 1]

ot fr T, TR BN [2]
T T D1 331 Q11 81 T2 HRUT Afgd IR €y [2]

39 idar H i A fobd WeHTa &) IR foran 872 98 fra U St
yfel A |1ees 87 g faf@ul  [5)

Solution

.

TR Ufeadl RIARTHRR T §RI1Id SHiddl T "Hd & 918" ¥ adNd
¢ | URq Ufaaal B T Weg &1 didar & I3 UTH, gRadn &1 Ut ¢ foe
RN T & |

TR piddr H 9t A 31U fd I Sdt wl o =R0N 1 UG BT el A Bl
3T U B! difds 39 UHIE Bl UThR I8 Siee! 31 gl Sy |

TR pddT H a8 ST fUaT 3ot 9 Bt 39 31t 3381 1 qrT 8] R
g1 i ofd a8 HieR H <at AT o G g Yol HRb UG &1 Bd AhR
qog oite g7 4T 3 HfeR & qoiR) g o & e @ntl A 39 3 fernl a8
3153 SiIfel T T ST I HieR H yaw &7 s R el 41| O arow st
SCT & T AeT o SUP! 9t IR gt AT a8T Had I B ot g1 9 2 3
T8 U 9Tt DI SRR 5wT Ui I a1 R Fant T

TR hfadT H ol 3 F3TFd St Grenferes ol o I9TR fHarg |
Y HIadT H GIHTHd ot YR 1T FHTS B Yep v [ATRYURT UR U1 STl
8 HEMRI & gte & 319 ¥ 3@ ! g o9t &7 IR ok & 994 TraT 8
3R 98 9gd HHOR H &) o1l & | a1 3 §9M &7 WS T HRAT g |
g4 o1 o gRaan o= forar & <ot | &7 THIE S0 B a1 BT SEI8 St

g | <ferd 811 & SR 3% HieR B yawr afsia o1, o 1t 9 frar ug srarry
A1 8 3R 39 SRTY & fore fers, 9 srou w81 usdr & | Uegd S o
TS SR =i & &ord [l 1 UIST &) SRl a1 ¢ | 3igd Hehs aul dfeR
@ SUfas B3 & U1t gferd fUar & 3ot gt i 3ifaw S=81 gl &= 1
Grurg i 78T e Sfa & SR IR NeHTd Th SIS SIORTY § g3gd
& AT R gfordl o HiR H U 9 oA ST 7Fadl & 09 81 S35 A fapsdt
T H BIs WG 781 T § dl 80 I 4 & SHGR SR U Aoy &t
B GDha & b B 3 & SR D Ufd= | Tg 32 & foru BIpRS & 39 aff
U & Ted o= Bt unifa g R ghdT | SR A frddt g d 1S Ve e
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frar 8 SR & fod & fore & HaHTa 8l &1 I1feu 3R Tad! TR A1
Gl

Q8. R off Bt Hfdd HTGHT TR UHTR STefd §T Tabferd Ue! o STHR TR Higrr st
TSl T3t TUT AT TREl & areded HId &1 qui| HIfoTg |

Solution

TGN St YR Hidd H1er & U@ wfa 8, g ot sfaareii § s o

T et 3R I T=MeT & drcded HId &1 Add HifHe quiH fdhar g | 3!
HfakT HTGHT Srcd et 3R Tt 2ft, oY St Teran H Wy Fawd 8 | gRaT ot 3
30 UGH & A1egH F W NHW & a1d Wy o i far g, o 37
TCHCT, ! HIch I 3R ISP | Taerdl & Sfgard aui fHerar 8 | gRar
St & uel & dipwr ot ST Siansit 1 guiF Sgd gt Tolid 3R FHE® & | S
SH1 & ARG TR, TIT & T I A 3R ITD! A1d-GaH IRl BT 3fid
AT dRip & qui farar g | e &) a1a oiiemaeii & S9! TRadT, 7T 3R 3=
Hidd &1 S Hd TTH ¢ & FAear 8§ | YRS ot o Ugl & g & U et
3R Hidd SR U9 Udhe 8T 5|

AT gRIET & aTcded HTd BT g0 HRd §U YRGSt A 3! HHGT, WE 3R H3uM
! 95 &l Yae-T=Nadr & Y U a1 8 | 3611 T=NeT & 39 aTeied &1 quli
foran & 5Te 9 Sipwr & Teard, Jard iR 3T HIS1eh &I SHH uuF el 6|
R ot & uS & g=ifer @) fid, 57§ i Mg g 9 € 1 91d 98 YRR B
g, 31 1t 5ga & Wragul < 9 e o T B | R St @bt Ui yreHT iR
Sfigpeor Y STt el &1 quf I TaTeH ol Sifgdia s 8 | 39! Hdarsit
o 9T HWT 1 ol FeA01 fAretelT 8, 98 7 Fad Hakdl & ged $1 g Adl 8, Sfed T8
HiET 3R UH T U1 it ST a1 € | TR St B = YR ufdd anfed
BT e RIS 8, 5N 3f7at Hf AT &1 Higa A R ORa el € |

Q9. "SI T IR ST &' FHaa B Hare W8 & T quT AT T HI a1 TS
ST ATEd 82 HIadl B Uldal Hel-A-Hel 69 99 B Ud 791 S8 Ul & | Hiaar
F YR WR 3 HY & WY B |

Solution

ST I &R ST &' il H HalE 1 382 WY & A 3R JHE HHd H &l
SR BT 3R IR H1 8 | I8 Hiad 89 AR S & &0 B 16 feamdt 8
IR &8 PR S 5ga & fore Mg d odl ¢ | HafdE gl g Geu e e fb
Sfte & g9 Srrere, FARTRIT 3R S1awTe P INTEHR YA Ted Ft 3R dg1 e Tl
Hidar | fkral 89 g Jard § fob Sitaa H wfe-rgal ok gifaat smid, afe
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B ST USRI 161 A1feT afedh I WHR $H, 374 Had gU 3 9611 F1fu |
HarE &) gg ufdaal g1 I+ # teh 797 I8 1Rl § MR BH Ay T WR ot
& PalE! pedl & [ Y9 ShdT 8] 8, 98 FRR oI BT g | g8 I S Iy
HeH MAeTsR ga1 81| I8 Hiddl g9 ug Hi Rardt 8 f gwR1 w7 afe Sipa 8ik
W@%@Wﬁfﬁﬂ%@ﬁlﬁm%méﬁﬂuﬁlmam&%aﬁ?&mﬁaﬁaaﬁmﬁm
ghd ol

SHYDR, SN D! G2 ST §' Hiadl 89 gHR Sita ) He@ Ul Geargdl § favTd
IR ¢ 3R g8 URd el § fob g1 oo offad & Sarsdl &1 g & forg wea
SRReeh 3R AR g | 39 HIAdl & H1eTH A dhafdat g0 It § seafayry, aed
3R ITE BT TR el & | HETed! St A & 7 P! Qa8 Hdl § b GRS
TE-HIAT & §4- T Yo 81 (AR AT g STHTe 3R SO+t HiSTa &) ured &
21 HafdE IRun e fob 3 e SR & AT 31y al SRl § W anfR ga
P fou qaR BT B

Q10. "HRT ATHIRI" (Saara Akash)

"ggd § 95 ¢ feaTHR!" FATAI-TEG TR & B FHgl, U8 5l 9 feamas, A&
JGUR B ST | g1 S & {1 IR § | TR H T Ud &l o gl (Herdl...|

i. 9o P9 8?7 39T Iitd uiea vl [1]
i. fATRPHT? B IFTBI R BERAATIT/IAN  [2]
i. deABISHWREUABTT A  [2]

iv. 8l oA H A R § | TR § Ue Ud &1 9 Aol (Hadl...... 1" $9
HYT b AP H gadl & IR I RIMBIIuA PIRTU 5]

Solution

i, oo R 8| IR U U aafakcd o Ufafiftia svar 8, e qua qun
e Fageaiia aitar @1 enfie Tawnst & HRU ge od § 1 98
uRfeufaal 2 ST e s |

i.  feareR TR &1 i 8| 98 TR & IR SR U O B YuRifST &1
& Wt fGaard 3| 98 I9d gu-ga &1 At ot 8 1 98 TR &t Rl &
R I H 1t 7Eg Bl 5| 98 al I &1 Uil g |

iii.  feaTdR gRIOY § Y A&7 &1 S Yo 98 Iaradl ol 141 & el 9 39
gg T fOre STY | gardT (HR) 39 UaTd 9 Q2T 81 a7 AT | 39 faradt oft s

D1 3 I dl A | 98 3Mfies grwrsl ¥ i gi T g | sdifaudg
CCICREIRRICIFE RG]
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iv. J9dT (THR) & TR Bt 3nfie YUY 98 SuTeT Wve B | IR 7 81 A uRar
& G 9 I PO 15D G4 36d 8 | TR B JAM gal-uigl P
9! B | 98 TP HEAIpiel Jadh § IR TR 31 FRUR 31t 9 811 & FRUT 3™
S84 $ 1 Ul & | g weaarifa fiféra gar & T &1 veaer Ierexun
& | e TR U SfagIN® SATGRIATE! ¢ | a8 Ugad UNAGR 1 Yoo Wil
el i & fore faa=r 8 1 ST & Heter, STaht T 3MTdd, HTHt 3 TT-aToT |
T8 UHT B U1 B THSIAT A1 § IRed $© R o urdl 8 | URaR & HHH
oIl Y ¢ 3R T 3 § | S HRUI AT T ATeId &1 38T & | STt
uiRkaTes U GET giaT S e 5 |

Q1. Yol TTad A THHIA SGHI Ud THWTSHT &1 HY= Hd §U FRT BT
T &1 T 1 8 | GHR U U1 U & et afaie gurfare & eRad R
T T 8 | S HUA BT O A TWHR TR BT IR e pife)

Solution

T BT IiF Ao 9RT SirehTRr

1
[
I
1
I
|
I
|
!
|
|
|
I
|
1
1
|
1
1
I
|
I
1
|
I
1
I
|
[
1
|
|
1
|
I
1
I
oG 16 d o U RT STHTR H AR BT IRA JUTIATG & LRI UR 161 T !
21 98 gHeT SgHT 3R wHwell @1 udies 8 | Fafafed gt & mrem 3 o !
& 9 & Ty v o g & !
1. e & ufy smemard: E
. IR Hfas & Ul Semard} § R U WU Bl W HRA F o € {
YHfeua g :
|

. g Hfowr & ufd guf sm=marc) 8 59 &R a8 3197 faarg & ue =gt :
7| 98 31T UGT5 B A aId] GIRId BT drgdl Ul !
|

1

I

|

1

I

|

1

|

|

|

[

|

|

[

1

I

I

!

|

1

|

|

|

I

|

I

1

. TR B! Y AAEIA I Sfia Pt HIEATa! b1 THAT B Bl
FICS RN

2. AR 3R faRTeT® W are:
. IR AAFR B 3R 3193 Fofg wd &3 & fayrr I@ar g

. JE UG P GII-gY UréersH el it dxar Tear e | 3 faaRes
T & HRUT 51 R’ 4TS 916 & faart 9@ yawifad gar g

3. QR faaRY iR wepfa &Y 9=  ara:

. IR PTURGR URURS 3R Fgare! T &1 e Hdl g, forgd a8
JUT g gl
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. 98 WY vl wgl-oel M faaR] 8k I fd &1 urad &l 8, Afd
98 38 e DI ATIHdl &l H FAar 8|

. 9 Ugad uRaR B g gl o fRUfd st A g Rt ag ot &
foru $o BT TR R | 98 ged H Rigth & arasg uRar & s
TGI8 TR 39 ST 8 gl |

4. 3TSITS X1 & fART=I ga1 &1 udie:

.« TR 3OS R & 3 AT &1 Uciids & ot 3T U] 3R
arafasarsl & ot Jadf R @ &

o ITP! RIR R du 39 Ui @1 ARGl 1 g § o Wl &
a1 1t e @t sfe=i ik st wr=anet I SEIvEl B |

. 3 i &3 IS faRyarsl & 91y TR o1 Afddd I TR |
I8 Ayrd fFRTImEre}, WiftEmT 3R 3109 hae iR g aren gl
YT gl sha A== a &5 A diaar 2|

IR &1 IR GRT BT IU-AT 7 gurfard} efeur & uxqd fsar mar g1 g us
T g9 & S 30 St & I5 -1 &1 U & forg Ga Har § 3R GHS T gRaR
B! wiedl B! g a8 | STD! Be g1 U R § b sfia= # 3 areft
FHioTSal g Holgd &-1d & SR §H 310 I3 B 3R SRR HRd g |

Q12. TR 3BT I THR 3R THT B &1 HUT 18] § Ffceh 3P AT I IFh =
RGeS quUT FrTSTe a3 &) H SOR fha1 g1 SU=g & YR R 39

Y- B AR BITod | T1Y &1 T i frfan & 3y 59 Fya A fpaT Igad € 3R
TN

Solution

HRT ST IUATH BT qraTiore 3 grivarnfye gawrai &1 o

JTo5 TG d BT ST GRT THTR had YR 3R UHT Bt Sl Il §, Sfeh
3T HILAH T RGP 3 JAT 3R URaR $t fafts grarsi &1 SOrR feuar g1 a8
IUITY GroTforh 3R Uilkaries Ga-rel & T 3 fagfaat 3R dusf ol
A AT |

1. SRISNIR ga@| & |ud &1 qui-;

. IO T R & H1EH 9§ SRISHR gad| & 9oy & @ Tar |
TR I PRI UT B & F1au[g A1) U+ H a8l &, o
TS SH-GH 3R AFD T IR T8 SRR USAT 8 |
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. ol HoeR gyrRfard} 3R e & | AEIa: Hear & Ardr-fdr
AR g 5 &) s 1 faas #r <a €1 2t & oY & oftaw A
Wiaar 3R T3 o1 ufthar YR 8 ol 3|
2. AYad gfvar] ot g

. IUUH H 9gad IRaR &t guaansi &l 1 I9rR fear mar g1 IR
1 UNAR U Ygard YNGR &, STl UTRATR® JG&il & oid a1 3R
AN Wy fewrR ad g |

. SUT BHFARIG DI SUTYN, TRIERFTT TR ° Hafdd R fean
i1 & For sid & iR ST gl usar g |

3, T WIfa IR 811 9Td SITaR] &1 SWRR IFT:

. REYHIS! S AR SRR 7S &, 98 TRl g | S ufd-uait d &4
0 R URER & 30 o I Gy § IR §93 @S 81 U

. THT I gTad ARt ot o, 11l 39 OR ot STem o1 S vt off|
4. MR 3R i3t |ar &1 Siav:

. IUUE T URAH 3Rl 1ar & Sick &) W} femar mar g 1 e
3R UHT & fTR H 59 3R &1 <71 o Ihal g |

. Uit S B TWaAdT AR Afgared & gHad YR THS $I
TRIRATE T 3R FHfedhdl 1 ehrid WY FU I [fa fearmar g |

5. ool UYT S THJT:

. RO UUT ] IR B Hi ST A SOTR R T § 1 GHR 3R UHT
¥ faae # 58S B! AHR YRR # d1a 3R Aave SAF e & |

o 3 R BT SU SHGHD GHETS F =T g3 8 o ARt
AR O Gy ISt I & ST § | ST T HIH SHET vee
3CTERUI 8| HET ofl FohdT & [ a8 Iu=ard gurfardt & forad weawart
ot ey o SHEret o IeR far mar g | w ufkfRufeat &

T Uih H I8 Uh b Alch g

Y A dgHla:
H 39 Y 9 O TRE UEHA § [ IR 3BT Had GHR 3R YHT 1 81 HUT 18!

B, fceh 3P HIHH T WRaep A UIRaIRe qUT JraTore Tawneli &1 Ht IoR fasan
21 IU H SRR, Tgad uRaR 31 Ty, Wi oiifd IR SR, HRAH 3R

gfgft Feaar &1 iR, 3R Gaot YT o el &) TiHiRaT ¥ Iarar T g | 4 gt
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AT 3T Ht R AT § Ui © 3R 39 IUT & HIH T TRad o THTS
P ST fezam &1 Uar fhaT 8 | IRT SHTHTRT THIS B Siieaddisi 3R afad &
Tl BT U Toitd (R0 g, ST g1 Arem UR HolaR dral g |

Q13. “3{T9Tg &1 Ueh {1 (Aashad ka Ek Din)

3T YT H A 910 el el A | H b WYRY AfGqa A A g1 3
;Twéla%sﬂaqﬁwwmﬁwaﬂ%uwm%wg%ma@ﬁw
i, TRGdPYT D IR AA B E?  [1]

i,  3ad B H e Wy S| [2]

iii. o= STYR [ T SIRA?  [2]

iv. Jdd GaIG & AP H addl o a1 @ fagmard fafgul  [5)

Solution

i.  godl- Afcaml
siyar- ey

i.  TgH- IRgd By Afcie] gRT &6 U & FalU gRI SITTEr $1 318 Ura
feem W afcdeT 3rum foeR iR fUfd vere et § o a8 39 99 fagiy
el ¢ afeeh agd WYURUI S | 9T HIferer & are &t = siffaas 3R
AiceTenT o e 8 |

ii. T BTG I SRRV bl § i d = plfe &b fagH &1 36
Fq HeR, Hugd, PAR GHT oI Heridl &1 wa1 &1 2|

iv. gadl P IRF B fawart Aigd Uew gR1 fafad e &1 ue feT A
UT-G15HT &1 2P ¥ Uh Ihd Alc® ¢ | AfcdddT HRAIT TR &1 ufafRfia
HRA B 1 98 ATcD BT a9 YfgaRe 3R wiffe afa g1 Afcas, sifriem
&I A 81 98 FIfCrary & U™ & =0 & - 311l 8 | 98 DIferery &l
TGS TR R Ufad 3R [:waref 0 el 8 | Ared & Yo urEl |
Fifcrery, faam, arga, Fé, afcee, siftaew qur flEpEsRi § | Afcads
IR A IaR, e R Feon & gfd, Fard yra J 98w are,
TATYA gadt & | AfeeT SERT auT JIYR AR & TUT HIfeIGR o
ITYRUI I & | 98 biferary Pl FORHeR) & faarg 811 wR i fafdd et
Bl & qUT 3id I SMUAT ST §-1 W T HIHD U Sl g |
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Q14. ‘TTTHY T TEHR WRTPR BT AT Hidd 81 Sl & -' MG BT TP &
AqTedh & YR TR 39 HYF D1 FHIET BT

Solution

3T BT Teh e e A AewdR 3 Hifdd a=iF, ughy An g gy Ani &
YIYd §E & THadIgad farad fbar gl

ATCH DI LT H &1 WD 310 T &1 &1 9 8 [P 31 3MTG P U &7 983
RIS § At Wy T8 X UTd % T8 oo o v B 1 3 ot o e vl g¢
IS HEd & [P 39 o aTedl PG B dodH SR A A0 €0} &7 311ig fera
ST el & A gkl aRW 39 & Pt 7T, ST aUT Y@ Iz § ST Sl 81 T8
e U a1 DI WY HRA1 8 (b AT H I[HR AeABR B G Hiad g Sl
2| PIfereT BT YR St 3 71Td 7 TaT 3R JRAd1 ¥ 4RT gl 8, ogi d
SOt T3 i AT fadt aT6 GaTd & Wd ¥ U 9 e IR 9ahd & | ST
g1 H Tottaan SR Aiferadr gt &, St 3@t aafdaitd Hagrst 3R faari &1
TfIfT B 81 SR IR IR ATC® B FIIGT &1 BT b URd o 1 & fored
AfcadT I UH, Ioa1yH o1 8 TTHSRT ¥ faarg, ot §9, 8 9e0=dl, =T
311 T g1 T 8 IR 39 Ul oad A ara, uRfRuferal | wwsiidT, ge,
RS Yt 3nfe &1 ot gxifar 31 gt o gof giex ot erguf 8 fewd B
BTG B TITY T TRARY S 3R AoHfaes SaRaehdrsi & 3iefi 8 St §,
o 3! T siftyeafad R a1 uuTa s 8 | 39 ufehar & It safaaid
TdgAm 3R W7 fFaR <d &1d &, 3R IH1 A Hidd 81 Sl g |

AT PBIRIGIRT ] T B o8 I ISIAAT U it § | T faeiiH
STHATHYY Pl & R BIfIa P oY Hea Iueh! Ufheh1 a1 @il ¢ | PIciar
Afcae! I UH o HRdT & IR 39 Twhardl & forg 31u UF 4 31 §¢ ST g |
e BT IR H auf I gidr 8 3R 3id ot 3t avi &) Tv= 9isRi § feam g |
ATedh &b AR | BTG g AicdT & Siig | HISTES a1, ISt 3R
3UATG! & HRUIYed g SR 3id Wi wifergra & a1y 3T gea vt Rufa A grar g

Q15. "B SIgT Teb R Ui ufayT $ Wt €, o a8t gusl R 37 WHIG
H gaicrarai & f ST AT B 1 - 39 By I & H [ gU PIrery Bl aRa-
fe0T HIfTT|

Solution
1. SATYRUT A faded HT WTHT:

. PIfcrer e gl facer safdaa O ot 31 a8t SRT 4T fob SruTaud
P O AT oIl Yadt SATY UH HR I3t 8 |
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. 3 TR THY & TdT AiiefAe ufammel § A ue &, Fe! waarell & TR
3R I TR P HIATHBI UTS STl 8 |

2. wepfal Uit

. PR B TS A UH A T Uoid 3R goid aui Hradr g1 3 Upid &
3gyd PR €l

. TUGd AR FARTHIH SRt TaT3f & UHfa & Wi 3961 U4 3R 37t
Yoo Wy SU A THe it o

. 3P oad H Upla & fafte =l &1 faxgd ik #He® aulH e g, St
3% UHTa 09 &l gfar g |

3. Tardf ugfar:
. Fiforera & wrff ugfty of St S It 8, S S 9ka &1 U geadT o |
.  Had HIcIDT 81 34 Sildd H 3] dg- & [o1d URd SHalt i

. 30! 39 Ugha P BRI U sAfeard SR uikarRes Heieh &l FoRr igTet
Hd &, ORI 3% Sia= & d=19 3R ¥y A gld & |

4, fofg a9 7 srawred:
. Sifcrer & 9 7 ok a3 & srameddr o uee gt B
. 33U Siad & Tg@yul (o # gfasm ok sfAfEaar &1 e HRd 8 |

. 3P TE TS P SliaH | s GH1S B R S & 3R I
AT 3R IR TR W G BT AT BT US|

5. UffRuferal & T[eam:
. PTG SR URFRUTTT & A §9 971d § SR Ia1 Ughdr 3 FHufa
&1 yHIfad Bl 6|
. OIS ] IHG-UHS H HISR U IaaFAdT SR GorTeddl ol @l ad
gl
. 3T g AT 3% MU dRATID ST F HedhT adl & 3R IAD!
TSl IR Ut 3R ST B |
6. ga@-ut:
. P & IRA W U & ufa geerar o 3t o it B
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. FIICr & U9 H gaadl g | 3 SSiraHT | AfceeT &1 Yo TRREeRt ¥ faarg
PR AdE | UAP &F H ATchBR DIcIer b IR Bt TTIRAT B I&Te] B UTT
gl

. 30 UF 3R U113 1 U8 gdadr I SAfdaiTd Wik IR HHSIR g1 8

3R B9P oitaq & HigATSal ST Bt & |

e Fifte U TeH UIfitd®R g & W1Y-U1Y T Sfed 3R AFdg o7 8
o S & | 310 SRR UfAHT & Y-y 318 TqHTG Pi gaarand Hf 35

T% Iollg 3R grRafge IR S0 &1 39T &1 Uah fea & 31 afa e gd ag
Rraran & for Temar & Ty-g1y AEr SHenar o 8 I 8, S Siia o Sost
IR zal &f 3R vt Te I €




